/ Graphing in Both Standard and Intercept Form ' . May 5, 2015

Graph in both standard and intercept form. Do they
both give the same result? Why or why not?

y = (x-2)(x+2)
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Graphing in Both Standard and Intercept Form

Graph '

v={x+3)(x+4)

Find your x-intercepts

{(wheny=0)

Find your y-intercept

(when x=0)
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Find your line of symmetry:

»

{midway point since parabolas are symmetrical) -

Add both intercepts and divide by 2 to find middle

Find your vertex point:

(Substitute x in from line of symrﬁetry)
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Graph

y = ~x%~Tx—10

Standard Form Work
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Graphing in Both Standard and Intercept Form

Graph

y=-3x*-6x-3
<8 b= ce-3

_ Standard Form Work
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Graphing in Both Standard and Intercept Form May 5, 2015

Find your vertex point:
(Substitdte xin from line of,symmetry)
Graph

y=(x+2)(x+6)

Intercept Form Work
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Graphing in Both Standard and Intercept Form

Find your vertex point:

(Substitute x in from line of symmetry)
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